Task:

dv R? _ m
va =—g ok solve for t for any given x and g = 9.815—2
Solution:

Then:
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Depending on f(t) answers will differ.

2
For example, let x = f(t) = % + v(0)t + x(0)

at? R?
= v +x(0) =+ |-
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v+ 2O F [-T—=0
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D = 12(0) — 2at?| x(0) F —gT
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—v(0) + jvz(O) — 2at? <x(0) + ’_gTRZ>

tl = a
2
—u(0) — \/UZ(O) —2at? (x(O) T /—%)
tz = a
t>0
Answer:

Depending on f(t) answers will differ

In case of x = f(t) = ath + v(0)t + x(0)

—v(0) + \/vZ(O) — 2at? <x(0) + /_gTR2>

t1:

a
—v(0) — \/vZ(O) — 2at? (x(O) + /_gTR2>
t, =
a

t=0
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